Day 12 Quiz

. The first Thanksgiving took place in

a. 1421
b. 1521
c. 1621
d. 1721

. The development of the automobile directly affected each of the following
EXCEPT:

a. population growth of the inner city

b. growth of the suburbs

c. teenage independence

d. economic growth

. This crippled the German economy after WWI.
reparations

drought

The Bolshevik Revolution

creation of East Germany
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. This plan allowed American banks to loan money to Germany after WWI.
a. The Dawes Plan

b. The Zimmerman Plan

c. The U-2 Plan

d. The Weinerschnitzel Plan

. Following WWI, the US Senate refused to ratify the Treaty of Versailles primarily
because the treaty

failed to include most of President Wilson's Fourteen Points

did not punish Germany for starting the war

contained provisions that might lead the US into future foreign conflicts
made no provision for reduction of military weapons
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